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1. Giventhat AABD = ACBD, please find the values of xand y.
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Complete the following proofs. Your proof may not require all the steps provided © X=5
2. Given: OM bisects ZLMN and ZLOM = ZNOM N
Prove: ALMO = ANMO L
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N
-~ Statements Reasons
1. G buedts <« LMN 1. @wed
2. {UMO2 <NMO 2. Def-0f ang\e bisedor
3. ¢LoM T 4NOM 3. Gwen
4. g T OM 4. ReHexive Pyof
5. AUMO Y BNMO 5. MA
6. 6.
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3. Given: : WX=YZandWZ =YX
Prove: AZWX = AXYZ
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Statements Reasons
. WXL Gen
. W1 TNX Guen
X2 X1 Re Hexwe Prop
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4. Given: JK || MN and L is the midpoint of KN

Prove: AJLK=AMLN
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Statements Reasons
1. J¥ I/ MN 1. Gwven
2. <KL 2 <MNL 2. Alterpate Wr.Anglef Thim
3. L5 the midpowak of kN 3. mven
4. LYW 4. Debtion of rdpoint
5.<xL) £ {NWM 5. VAT
6. AJLv ¥ AMILN 6. AR
5. Given: KM L ML, LN 1L KN, 20KL = £OLK
Prove: AMKO = ALNO
Statements Reasons
1. v VML, TN LW 1. Guen
2.\ and ¢N ave nghtongues 2. Dehnihion OF Perpendwuiar Lwnes
3. AMKO and ALND are Yight A'S 3. Debnition of Rigit Triangies
4. Yy T L0 4. Gven
5. 0k ¥ 0L 5. Buse Angiel (onverte,
6. (MK 2 <NOL 6. VAT
7. AMOY._ 2 AWND 7. MRS
8. 8.
9, 9.
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6. Given: Mand BA=CA /4_‘\\
Prove(=HB=€D—-) ARDD ¥ AADC _

B D C
Statements Reasons
1. D 1080 1. Guen
2. ¢ppp and <ADC are right anglel 2. bet ot pup(Y\d\N\QY \nes
3. AAGD and DADC are right mangies 3. Det of vight mangus
4. pp ¥ (A 4. Guen
5. MY A 5. peHexwe Prop
6. AADBZ AAOC 6. #L
A B
7. Given: BD bisects AC, ZBAE = /DCE g
Prove: AABE = ACDE
D
Statements Reasons
1. 80 bieurs AC 1. Gwen
2. REY 2. Def. of segment bisectov
3. ¢HAE L <NE 3. Gwen
4. (ppp 2 4CED 4. VAT
5. Appe 2 AWDE 5. ASA
6. 6.
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8. Given: Qisthe midpoint of PR, PS = QT and PS || QT ’
Prove: APSQ = AQTR
S
Statements Reasons
1. Q1§ He fidpomt OF PR 1. Gwen
2. 7 £ RQ 2. Def. Of mud point
3. pc2 QT 3. Gwen
4. % [l @t 4. Gen
5. 4qps e <RaGT 5. Corresponding Angus Postuiate
6. APSQ 7 BQATR 6. SAS
7. 7:




9. Given: «SQT = «VTQ,VP =SP
Prove: AVPQ = ASPT

Q

Statements Reasons
1. <SQT ¥ NTQ 1. Gwen
2. 90 277 2. pog Argies CONVCRE,
3.0 ¥ op 3. Gwen
4. «\ypQ ¥ <SeT A. NAT
5. AveQ £ ASPT 5. SAS
6. 6.
7 7.
8. 8.

10. Given: Cisthe midpoint of BD
AB 1 BD and BD 1 DE
Prove: AABC = AEDC

Statements Reasons
1. (15 the mIApomt of BD 1. Gwen
2. &P 2. Def of midgowr
3. pp 180, &) L DE 3. &uen
4. <pand <0 are nght angles 4. Dek of Pevpendiculay jwnes
5. OABC ond AEDC are night tnangied 5. Defof gt mangtes
6. {Hp P <¢OLE 6. VAT
7. ARBL L DEOC 7. ASA




